Name BC Calculus — Polar AP Practice
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You may use a calculator for the questions 1-2. D el
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The graphs of the polar curvesr =3 and r = 4 — 2sin 6 are shown in the figure below. The

curves intersect when 6’—3 and 9—%

a. Let S be the shaded region that is |n5|de the graph of r=3 and olso/,m5|de the graph of
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4. Calculator Free Response

The graph of the polar curve r =2 + 4 sin 0 for 7 <0 <2z is shown in the diagram below. Let
S be the shaded region bounded by the curve above the x-axis.

a. Write anintegral expreﬂyon for the area of S. 2+H _S‘” =t .
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c. Write an expressuon for the arc length of the curve from 7 <0<2x.
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d. Write an equation in terms of x and y for the line tangent to the graph of the polar

curve at the point where 6= i |
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